%)
| ¢
l-m
)
w
m =
i o
1T} -
- &)
z
w | o
HEE
NWW
olZ| @
D H|ls
oW ;g
oO|Q|w
x| O | v
o= <




%@ -
A B C
MINIFIX NUT MINIFIX STUD MINIFIX WHITE DOWEL
X6 pc. X6 pc. PLUG x6 pc. x4 pc.
E F G
MCC@Q S i
YSB SCREWS BUTTERFLY BOLT YSB SCREWS STEEL DOWEL
M5x30 x28 pc. M6 x4 pc. M6x12 x8 pc. x16 pc.
| J K
««««(«(««@ ” & %
YSB SCREWS YSB SCREWS

M6x60 x16 pc.

M3x20 x16 pc.

SLATS x14 pc.

—

SLAT’S SUPPORT STEEL x2 pc.

REMOTE CONTROL x1pc, ADAPTOR x1pc

ASSEMBLY INSTRUCTIONS

PAGE: 7/2




PAGE: 7/3

ASSEMBLY INSTRUCTIONS




o8

I R g

=

e

e ———

ASSEMBLY INSTRUCTIONS

PAGE: 7/4




R :/::\\'\_— -_/\./\; 2>

LS 2
\ QIS _."'\ 7
o/ i
'\

S

ASSEMBLY INSTRUCTIONS PAGE:7/5




[0l

o8

It r /1.1/ .
|

S i

=S
%>

B
& \>
\K“‘\\\\\\,

)
!

—

ASSEMBLY INSTRUCTIONS

PAGE:7/6




PAGE:7/7

ASSEMBLY INSTRUCTIONS




